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Match #46


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This writer died in a duel with George D’Anthès (dawn-TEH) in 1837. He wrote the play ‘Mozart and Salieri,’ the short story ‘The Queen of Spades,’ and the poem ‘The Bronze Horseman.’ A prize for excellence in Russian literature is named for what author of Eugene Onegin, Ruslan and Ludmila, and Boris Godunov? 
ANSWER: Alexander Pushkin
2.
Cliff Barnes was one of the two characters to survive this show’s entire run. Kristin Shepard wounded the other survivor. Of course, when the entire 1985-86 season was revealed to be a dream of Bobby’s wife Pam, this meant it and its spin-off Knots Landing became disconnected. What 1980s TV show about Texas oilmen was famous for its cliffhanger, “Who Shot J.R.”? 

ANSWER: Dallas
3.
It was built on the same site as Fort Prince George. Edward Braddock and George Washington both led failed expeditions against it. In November 1758, John Forbes forced its French defenders to flee. Between 1754 and 1758, it existed at the junction of the Allegheny and Monongahela Rivers. What French fort was then replaced by Fort Pitt? 

ANSWER: Fort Duquesne
4.
Every May, this nation hosts a Formula One race on its public roads. It became a full member of the United Nations in 1993, and its lack of an income tax has made it a European tax haven. What is this principality, who saw its leader Rainier III pass away in 2005 and includes the Monte Carlo casino?

ANSWER: Monaco
5.
Signaled by an increase in air pressure over the Indian Ocean, it leads to wetter winters in the southern US, and an increase in summer wind shear over the Caribbean. The latter contributed to the weaker 2006 Atlantic hurricane season.  What is this effect that results in warmer than normal sea surface temperatures in the eastern Pacific Ocean, and is named for an important child born in late December?

ANSWER: El Nino
6.
The younger appeared in Hearts of the World and appeared in Remodeling Her Husband under her sister’s direction, but retired from cinema and returned to the stage after Wolves. The older starred in 1987’s The Whales of August with Bette Davis and 1915’s The Birth of a Nation. What was the last name of sisters Dorothy and Lillian? 

ANSWER: Gish sisters

7.
A front, or Australian, one of these is the stroke used in freestyle swimming. A news one of these is the moving line of text at the bottom of a TV screen. Doing this on the World Wide Web involves visiting a website and then following every hyperlink. It generally applies to any form of slow movement, as with traffic. What word applies especially to infants going around on their hands and knees? 

ANSWER: crawl
8.
This island is the site of another Jamestown, this one founded in 1659. It was home to King Cetshwayo’s (SECH-wah-yoh) son after the Anglo-Zulu War, and was home to 5,000 Boer prisoners of war. It is near Ascension Island and Tristan da Cunha (KOON-yah). What remote South Atlantic island was the site of Napoleon’s final exile? 

ANSWER: St. Helena (hee-LEE-nah)

9.
For a parabola, it is one; for a hyperbola, it is between one and infinity; for a straight line, it is either zero or infinity; for an ellipse, it is between zero and one; and for a circle, it is zero.  Name this strange sounding term that measures a conic section’s deviation from being circular.

ANSWER: eccentricity
10.
A Gooch one has small holes in the bottom.  Platinum was once used to make them; now nickel, zirconium, graphite, or porcelain is used.  Name this cup-shaped piece of equipment used for holding chemicals during heating that shares its name with an Arthur Miller play.

ANSWER: crucible
11.
Its name derives from a Tswana word meaning ‘great thirst.’ The Okavango River is the only permanent body of water. The San people have lived here for some 20,000 years. It is the setting of Animal Planet’s Meerkat Manor. Portions of Botswana, Namibia, and South Africa make up what desert? 

ANSWER: Kalahari Desert 

12.
Naomi Shemer translated this poem to Hebrew after Yitzhak Rabin’s 1995 assassination. At the end of all three stanzas, the title figure of this poem has ‘fallen cold and dead,’ but ‘our fearful trip is done.’ It first appeared in the 1865 edition of Leaves of Grass. What poem by Walt Whitman was written to mourn Abraham Lincoln? 
ANSWER: “O Captain! My Captain!”

13.
By 1970, this literary character had purged the other leaders of the Revolution and assumed total power. His date of birth is uncertain, and he will never die, according to both Goldstein’s book and Inner Party member O’Brien. What character in 1984 is the leader of Oceania and is always ‘watching you?’ 
ANSWER: Big Brother
14.
This is used to make super fetch possible by allowing flash memory to be used as a cache from the hard disk. It makes commonly used applications load faster; it even allows Windows to boot faster. Name this feature of Windows Vista in which you need a flash based USB drive.

ANSWER: Readyboost 

15.
This man directed both Hope Floats and First Daughter; he had previously starred with Katie Holmes as a police captain in Phone Booth.  He appeared as Private First Class Edward Motesque Garlick along with Robin Williams in Good Morning, Vietnam.  What actor plays a police lieutenant on The Shield and won the Best Actor Oscar for his role as Idi Amin in The Last King of Scotland?

ANSWER: Forest Whitaker
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
THIS IS A COMPUTATION QUESTION. How many yards are in a half-mile?

ANSWER: 880 yards

1B.
The merger of Moldavia and Wallachia in 1859 formed what modern-day nation whose capital is Bucharest? 

ANSWER: Romania
2A.
This word’s origin is a Latin word meaning, “to make smooth.” When used with “off,” it means to dispose of something quickly. What word is also something used to provide a glossy finish, as with silver or with shoes? 


ANSWER: polish or Polish
2B.
In what geological era did the dinosaurs live?

ANSWER: Mesozoic
3A.
Located on top of Penn Station in New York City is what home arena for the Knicks and the Rangers? 

ANSWER: Madison Square Garden
3B.
Poems on Various Subjects, Religious and Moral was written by what African-American woman who was the first African-American to be published? 
ANSWER: Phillis Wheatley
4A.
Name the hominid, officially known as Pithecanthropus (pih-theh-can-THROH-pus) erectus, that is named after an Indonesian island.

ANSWER: Java man
4B.
Purdue Pharma and three executives were fined for misleading the public about the dangers surrounding what extended-release drug known as ‘hillbilly heroin?’

ANSWER: OxyContin or Oxycodone
5A.
What FBI agent was arrested in 2001 for selling secrets to the Soviets, and then the Russians, over 22 years? 

ANSWER: Robert Hanssen
5B.
THIS IS A COMPUTATION QUESTION. What is the value of four factorial?

ANSWER: 24
6A.
What astronomer noticed an that increase in stellar distance meant a proportional increase in redshift, and is the namesake of a law and a constant?

ANSWER: Edwin Powell Hubble
6B.
The eastern end of the Champs-Elysées (shawm ay-lee-ZAY) is what monument, commissioned by Napoleon in 1806, to France’s war veterans?

ANSWER: Arc de Triomphe (ark dih tree-ohmf)

7A.
It was written in 1801 and dedicated to the Countess Giulietta Guicciardi (jee-chee-AR-dee). What is the popular name of Piano Sonata No. 14 by Beethoven?

ANSWER: Moonlight Sonata

7B.
THIS IS A COMPUTATION QUESTION. What is the sine of 270 degrees?

ANSWER: -1
8A.
THIS IS A COMPUTATION QUESTION. What is the conjugate of 30 plus 23i?

ANSWER: 30 minus 23i
8B.
Jumbo, reverse, interest-only, and balloon are types of what loan? 

ANSWER: mortgage(s)

9A.
What German writer wrote The Glass Bead Game, Steppenwolf, and Siddhartha? 

ANSWER: Hermann Hesse
9B.
Write down the following sentence. (Quizmaster: speak slowly) I will have played Scholastic Bowl all four years of high school. (Quizmaster: speak normally) In what tense is the verb in that sentence?

ANSWER: future perfect
10A.
On the night of November 5, 1605, what man was caught trying to light the fuse that would have exploded the Houses of Parliament in the Gunpowder Plot? 

ANSWER: Guy Fawkes
10B.
What type of electromagnetic radiation is between x-rays and visible light in length?
ANSWER: ultraviolet or UV
Third period, 15 toss-ups, 10 points each

1.
Subsets of them include gamma/delta, cytotoxic, regulatory, natural killer, memory, and helper.  They play a central role in cell-mediated immunity and have a namesake receptor on their cell surface.  Name this type of white blood cell that primarily develops in the thymus and is named after that organ.

ANSWER: T cell (prompt on ‘white blood cell(s)’)
2.
THIS IS A COMPUTATION QUESTION. What is the surface area of a sphere of diameter 24 feet, given that the surface area is equal to 4 pi times r squared?

ANSWER: 576 pi square feet
3.
It was opposed by Emma Goldman, who held that female activists ought to call for revolution instead of wanting equal rights in an unjust system. The efforts of Emmeline Pankhurst and others helped legalize it in Britain in 1928. What was allowed in the United States after the passage of the 19th Amendment? 

ANSWER: Women’s suffrage (accept equivalents such as “women’s right to vote”)

4.
The word for “attorney” in this language literally means, “he argues repeatedly with a purpose.” It is the only surviving member of the Southern Iroquoian subfamily, and around 20,000 people in eastern Oklahoma and the Great Smoky Mountains of North Carolina speak it. What language had a syllabary invented around 1807 by Sequoyah?

ANSWER: Cherokee
5.
He was kept in jail for two years by Felix and Porcius Festus, who reopened his case. Agrippa said of him, ‘[He] could have been set free if he had not appealed to Caesar.’ He then traveled to Rome to stand trial at the end of Acts of the Apostles. Who made three missionary journeys and wrote much of the New Testament?
ANSWER: the Apostle Paul
6.
Also called the law of upthrust, by necessity it must ignore surface tension. It states that any object completely or partially immersed in a fluid is buoyed up by a force equal to the weight of the displaced fluid.  Name this principle named after a third-century BC Greek scientist known for jumping out of a bathtub and yelling “Eureka!”

ANSWER: Archimedes’ (or Archimedean) principle

7.
His orchestral works include Capriccio espagnol (eh-span-yohl) and The Great Russian Easter Festival. The scathing criticism of monarchy contained in his The Golden Cockerel led to it not being performed until after his death. He wrote the operas The Snow Maiden and The Tale of Tsar Saltan. What member of ‘The Five’ wrote the orchestral interlude, “The Flight of the Bumblebee”? 

ANSWER: Nikolay Rimsky-Korsakov
8.
The most recent of these held in the United States was Knoxville in 1982 and New Orleans in 1984. The first one of these in the United States was Philadelphia in 1876. In 1893, one was in Chicago. The Olympics of 1904 were held to coincide with the one in St. Louis. In 1939, New York City held what public cultural exhibition? 

ANSWER: World Fair(s) or World’s Fair(s) (accept Expo or Exposition in place of Fair, and prompt on ‘Fair’ or ‘Expo’ by itself)

9.
After he defeated the Kronstadt Rebellion, he instituted the New Economic Policy. He survived Fanya Kaplan’s assassination attempt and lost a war against Poland. His 1901 pamphlet What Is To Be Done? caused a split between the Mensheviks and his faction, the Bolsheviks. Who ruled the Soviet Union between 1917 and 1924?

ANSWER: Vladimir Ilyich Lenin
10.
This family’s father, Robert, became a manager at ShopRite after attempting to be an art teacher. In a 1984 book, their cat, Picky-picky, died at age twelve, and a younger sister, Roberta, was born. They live on Klickitat Street next door to Howie Kemp. What family, a creation of Beverly Cleary, contains the sisters Ramona and Beatrice?
ANSWER: Quimby family 

11.
The discovery of this type of compound won Robert Curl, Harold Kroto, and Richard Smalley the 1996 Nobel Prize in Chemistry.  Nanotubes are cylindrical ones.  Name this type of carbon allotrope, whose most famous example is C60, that is named after the creator of the geodesic dome, and is roughly spherical in shape.

ANSWER: fullerene or buckyball(s)

12.
His father was either the god Lugh (loo) or the mortal Sualtam (soo-el-tem). He left Aoife (ee-fah) pregnant with his son Connla (kawn-luh), and then married Emer (ee-mer). His charioteer, Laeg (lay-egg), and his horse, Liath Macha (lee-uh match-uh), were slain right before his death at the hand of Lugaid (loo-id). Who led the Cattle Raid of Cooley and was the hero of the Ulster Cycle?

ANSWER: Cuchulainn (koo-choo-lain)

13.
A predecessor to this government agency was formed in 1862 to help fund the Civil War. It has four parts: Large & Mid-Size Business, Small Business/Self-Employed, Wage and Investment, and Tax-Exempt & Government Entities. What bureau of the Department of the Treasury collects taxes? 

ANSWER: Internal Revenue Service or IRS
14.
In this novel, civil servants, all of whom are in their mid-sixties and have 14-year-old adopted sons, are killed. Barry Koehler gets wind of the plot, but is murdered. Rabbi Gorin insists that the sons also be killed, but Yakov Lieberman flushes the list of names down the toilet. In what Ira Levin novel does Josef Mengele make Hitler clones? 
ANSWER: The Boys From Brazil

15.
A dislocation of it could injure the axillary nerve or axillary artery.  Muscles that attach to it include the latissimus dorsi, deltoid, and rotator cuff.  This bone articulates with the scapula, ulna, and radius.  Name this arm bone located between the shoulder and elbow that has a funny-sounding name.

ANSWER: humerus
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
It started when Garrison Hearst broke his ankle and missed a season. In its most recent appearance, Shaun Alexander broke his foot. Barry Sanders suddenly retired. Eddie George injured his toe. Ray Lewis broke his wrist.  Donovan McNabb suffered a hernia. All of these players were victims of what phenomenon, caused by appearing on the cover of an EA Sports video game? 

ANSWER: The Madden Curse or Madden Cover Jinx (Accept clear-knowledge equivalents, prompt on ‘Madden NFL covers’)
2.
By book’s end, Fritz leaves with fellow survivor Jenny. The title group initially made mistakes: they didn’t collect enough salt and they built their tree house in the wrong place. Anacondas, ostriches, and kangaroos somehow exist on an Indonesian island. What book by Johann Wyss (wees) is about stranded Alpine relatives? 
ANSWER: Swiss Family Robinson
3.
Its English translation concludes with a command: ‘This decree shall be inscribed on a stela (STEE-luh) of hard stone in sacred and native and Greek characters.’ It was made around 196 BC and contained decrees from Ptolemy III, IV, and V. In 1799, French troops discovered what object that helped scholars decipher hieroglyphics? 
ANSWER: Rosetta Stone

4.
THIS IS A COMPUTATION QUESTION. What is the sum of the numbers from 1 to 30, given that the formula for the sum of numbers from 1 to n is ((n)(n+1))/2 (read as: n times n plus 1 all divided by 2)? 
ANSWER: 465
5.
During the Permian period, its Tethys Sea was closed off, and its lack of continental coastline is thought to be one of the causes of the Permian extinction.  Alfred Wegener’s (veh-GHEH-ner) theory of continental drift included this as a key point, noting that Laurasia and Gondwana were formed by the breakup of what supercontinent?
ANSWER: Pangaea
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

